ANATOMY FQE QUESTIONS 2015
1. Ngetich was shot with an arrow in the right side of the chest during land crashes in Transmara. He was to your health facility which is a sub- county hospital. Chest X-ray reveals haemothorax in the right side. There is no surgeon in this facility and the medical team relies on you to advise on the right position for an emergence insertion of a chest tube to provide under water seal drainage. Which is the correct landmark?

a) 5th intercostals space between mid axillary and anterior axillary line.

b) 4th intercostals space between anterior axillary line and mid-clavicular line.
c) 6th intercostals space between mid axillary and posterior axillary line

d) 3rd intercostals space between anterior axillary line and mid-clavicular line.

2. A 23 year old student from Sacho University complains of persistent headache and photophobia. Brudzinski’s and Kerning’s signs are positive. Lumbar puncture would be a further investigation to ascertain the diagnosis. At what point along the spine should the needle be inserted?
a) L2 - L3 interspace
b) L5 –S1 interspace

c) L3 – L4 interspace

d) T12 – L1 interspace

3. A footballer with a reknown club in town sustained right knee injury 3 days ago. On physical examination, there is an exaggerated anterior glide of the tibia. From your knowledge of anatomy, which of the following structure s is most likely affected?

a) Anterior cruciate ligament
b) Posterior cruciate ligament

c) Medial meniscus

d) Lateral meniscus

MOVEMENT SCIENCE FQE 2015

1. A 26-year-old intern sustained a fracture mid-shaft of left femur 2 weeks ago. He has been admitted in an orthopaedic unit and Hamilton-Russel’s traction has been applied. As part of physiotherapy, you decide to train him on use of Trapeze monkey chain to strengthen his upper limb muscles. Which kinematic chain applies during these exercises?
a) Open chain kinematics.

b) Both open and closed chain kinematics.

c) Kinematic principles are not applicable in this case.

d) Closed chain kinematics.

2. Julie John is wearing a magnificent tight-fitting hipstar trouser. As she ascends the stairs to  board a plane, you notice that her pelvis tilts to the right side each time she lifts her leg to take the next higher stair. Which muscle do you associate this apparent hip instability?
a) Right gluteus maximus.
b) Right gluteus medius.

c) Left gluteus maximus.

d) Left gluteus medius.

3. Anita is a 24 years old lady who is very conscious of her body image. She has enrolled in a n aerobics class and is currently exercising her shoulder abductors. According to the principle of scapula-humeral rhythm, how many degrees shall her scapula rotate when her humerus is at 60o abduction?
a) 30o
b) 60o
c) 15o
d) 45o
PHYSICS

1. Your supervising physiotherapist instructs you to treat a patient presenting with low back pain using moist heat. You therefore select hydrocolator pack. By which means will heat be transferred from the pack to the body tissues beneath the skin?

a) Conduction.

b) Convection.

c) Radiation.

d) Irradiation.

2. Mariga injured his right quadriceps femoris 3 weeks ago during a foot ball match. As part of his rehabilitation you decide to give resisted exercises using Delorme boot. During of the knee which class of lever systems is in use?

a) First order.

b) Second order.

c) Third order.

d) None of the above.

3. A matatu tout has boarded an overloaded vehicle. Suddenly he sees traffic policemen ahead and decides to jump off the moving matatu. You notice that as he lands on the ground he continues with the forward run for some distance before he come to a stop. Which law of physics is applicable in this case?
a) Ohm’s law.

b) Hook’s law.

c) Newton’s second law of motion.

d) Newton’s first law of motion.

